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Note : First 15 minutes arc allotted for the candidates to read the question
paper.
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i) TOMTCHS WYl H T % WHI Ug Sig |
i) weEl & w3 fafag
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Instruction :
i)  All questions are compulsory. Marks allotted to each question are
given in the margin.
ii} In numerical questions, give all the steps of calculation.
ii) Give relevant answers to the questions.
iv) Give chemical equations wherever neccssary.

1. T e % weE @vs § ww feeed Ry e ¥ W fRed FRT S8 S IW-
Y  ferfa : |
F) wifean FRES hee o e
i) FaFfEd T (bee) ii) o St " (fec)

i) enuRIfeR | iv)  SqEhIOg 4 1
) Fe,0q.x Hy0 & HEEE TR HEY B €

)  WUIRTR if) CIRAC

i) hI STE T+ \ iv) 3 Q@i et 1
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M) YR A9 9 GoH] HT SR €

i) Sg 4 iv)  Ss. .

13) @ﬁrwﬁ%ﬂ%ﬁﬂ%ﬁ'ﬁ% |

)  H, - i) 0,
i) Ny iv) F,. 1
%) fafere arorear s nEe o

i s~ a2 el i) el g2 nﬂﬁ‘l ;

i) el 2 w2 ) s A2 del 1
¥) o e R ¥ .

) ofea wiEe i g

i) TR e iv) AR A i

Four a.‘lternétive.s are given in each part of this question. Select the

correct alternative and write it in your answer-book :

a)  Structure of the crystal of sodium chloride is

i) body centred cubic (bec)

i)  face centred cubic (fcc)

iii)  orthorhombic

iv) tetragonal. 1
b)  The charge on c.olloidal particles of Fe,0,.x H,0 is
| i) Negative ii) Positive

iii)  No charge iv) None of these. | 1
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Molecular formula of sulphur at ordinary tempcrature is
i) S, i) S,
i) Sy iv) Sg 1
Gas present in food packet of substances is
i) H, ii) O,
iif) N, ) iv) F, 1
Unit of specific cond,ur;‘tance is |
i) ohm™ e¢m?® mol™ ii) ohm™ em™ mol™

2

- : 2 -1
iiij) ohm ! ¢em?® mol? iv) ~ohm cm” mol . 1

Non-electrolyte is

i) Sodium chloride ii) Urea
ii) Arhmonium nitrate iv) Nitric acid. 1
2 Wi e o fel el & 9 fefEa 2
FTE-Yes Frm &7 Seoi@ &I | 2
TR o IRl WiEd 3T TR HiA0 | | >
i) ATedierge % AT H W% FEERA S A A G )
i)  UF TEEHAIS F AW a9l S oG 1
Write the names of two lyophilic and two lvophobic colloids. )
State Hardy-Schulze law. ;
State the anti-osmosis with cxample. ;
i) State the name and formula of clectrophile used )
nitriation of benzaldehyde, e the
. , 1
1) Name one disaceharide and wyie IS molecular formula, 1
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T Min v S om0 s e ) 2
INi(CN), |~ 31 Ni "I 3qR0 AHisist| . 0
e ifz @) aufan % e argd- g 1g ffen 2

K"t | Fe(CN), | T Fe % AFRNET] 10200 71 WO 3 0 i A | 2

Differentiate between coordination compountd and double salt, 2

Explain hybridisation on Niin [Ni(CNJ,|™ . ' 2
Write the formula of half-life pc:rin'ti for first order reaction, 2

Find oxidation number and coordination number of Fe o in
Ky | Fe(CN)gl- 2

oy Hife @ afubrn TI 100 TR v fmr WA AR AT U
W= w1 99% faafea ?.’l et &1 sfalzen & A {egres e w3

Frtfeafiga @1 a1 e i 15+ 1}
i]- " et

i) et Frri
ﬁ?ﬁﬂccpwmﬁlmm?ﬂfwéﬁmaﬁmﬁl 4086 pm
3| free % O @ O Fif | (Ag FRAM] AT = 108) 3

27°C I R GRAT (AHR 60) % 5% (w/v) e e H T
7 FAT1 (R = 0-0821 @, Fgrvza & 7 A ) 3

In a first order reaction the concentration of a substance pets

dissociated by 99% of the initial concentration in 100 minutcs.

Calculate the velocity constant of the reaction. 3
Explain the following : | . 1a 13
i) Conductance

i) Cell constant,



c)

d)

)

m

1)

a)

n

b)
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408-6 pm.

Silver forms ccp lattice. Edge length of its unit cell 18
3

Calculate the density of silver. (Atomic weight of Ag = 108}

- R : w/v)
Calculate the osmotic pressure of 5% aqueous urca solution (W/

at 27°C. Molecular weight of urea is 60.

(R =00821 litre atm K- mnl‘ll

d-FE % A 8 el O favmaat @1 Jeoig @i A | 4

WA 3T 0 WEEE @ §, S nae @ 3T ae e #4074

3 “ =L
i) CH,CH, O CH,CH,CH, # LU.P.A.C. T feifrg | 1
ii)  wqeRea e e ad o ]

iii) 01 M 3@ a1 0-1 M NaCl {7z 4 mm prarsea SAC B UC o
e ? FRW EE EiAn 9

-

watE | fPEAtEd B eRde shilaa a aelaa erats miE

T 2 x 2
)  NaNO, + @ HCI
i) fee s |

State any four properties of d-block clements.
. 4

Phenol shows acidic character but ethanol

r¢mains approxi
neutral. Why ? PProximately

- - . 4
i) Write .LU.P.A.C. name ol'CH3CH2 O CHZCH CH
2 a- 1
i) What are tetrahedral voidg ? |
iii)  Which of 0-1 M Urea :
‘ and 0-1 M NaCl will hav
- pressure ? Explain wit}, reason € more osmotic
2
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d) Write balanced chemical cquation of the reaction of cthanamine
with the following : 2x2

)  NaNO, + dil. HCI

11 . Hinsberg reagent.
6. &) AEfEngd & I S0 1+2+2

i)  NaNO, A4l H,S0, @ uishar|

ii) I, @41 W% HNO, %I Afaferar |

i) FAREE oA a9l STl SR |
| rerar

i) uga faus B R S T % Fmir ) oy s gese 2

i) T GewEs 4§ HWH 19 @ AtaneaT farEa | 1
iii) NO(g)¥ 0, (g)d atubwar &t fafaw | 2

)  D-RE H WEA T G LU.P.A.C. W far@ul F@ g witwem fw

T % ] T UeERTE WYE IUHd § 2 2+3
HYAT
fetfead o Al fromit fafen : 2+ 1+2

1) pricic o PI;J'%-FInimIU[
i) et e
jii)  WZH % IHE
6. a)  Write short notes on the following : 1+2+2
i) .Rcaction of NaNOj and H,S0,.
i) Reaction of conc. HNOj with I,.

1ii) Reaction of nitric acid and zinc.

OR
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i) Explain thc_mclhod of preparation of ozonc gas by electric
discharge method. 2
1) Write the reaction of ozone with lead sulphide. -1
i) Write the reaction between NO (g) and Oj (g) 2
f D-glucose.

mula and I.U.P.A.C. name O

Write the structural for
group in glucose

ve the prcsence of aldehyde

How will you pro
molecule ? 2+3
OR :

Write short notes on the following : 2+1+2
i) Denaturation of protein
iiy . Zwitter ion '
1i1) Uses of protein. ,
JreeERe w1 g T et | SdeEs W (i) NHNHz (i) T
aqﬁq'qﬁ*aar (iii) NaOHﬁaﬁanaTmeaﬁ\ﬁﬂﬂTﬁaﬁm

| | g+1+1+1

M :
wiefegerss [ U.P.A.C. AW faradl sg® () NaHSO,, (i) NaOH,
(iii) NH,NH, aer (iv) HCN ® s T IR IR fAf@a |
2+1+1+1

:ﬁﬁa@q ¥ ] g Y el BT Rt

.nam?ﬁ#mcmwﬂl
cl, aﬂT{u)mHso ? e

= T e 7 FAREIA =1 - (i)

aﬂqwaﬁmwmwww{ﬁﬁm 1+2+2
ot |

pforfiges ¥ e feamoft ferfa :

i) ﬁmﬁaﬁﬁﬁﬁﬂﬁﬂﬁwWHdﬁﬁm

iy zer-fnfen arfuferan

i) fgriré e o STET

27+1+2
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Wilte ihe strueineal towanila o ln'n--:llv.h‘h\'ilt‘_ Wiite t'lll"lllh‘ﬂ,l

equiationg of e eaction of benzalitehvde with (1) NII,NIIJ‘
() Tollen S reanent and (1) Naoi SEERN BRI B
ON
Wate LU ERAC tanne of Avetatdebivde, Weite ehetical couaiion of
R TeTON W Na RO (i) NaOl, () NN, and (iv) HCN,
SO BB

Why fx chlovine atom of chlomobensene less reactive thean chlorine

atem ol ehloroethane @ Weite chemival cquations of reactiona of

cllovobenzene with ({) Cland (#1{) cone, 1 WO, Lr2e
OR

Write short notes on the following » Sl

\ Flectrophilic substitution in haloaene

i Wartz- iy reaction

) Applications of Qrignand s reapent,
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